8. Find the limit.
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15. Water is poured into a conical paper cup at the rate of 4 cubic centimeters per second. If

the cup is 18 cm tall and the top has a radius of 6 cm, how fast is the water level rising when
. ‘ T . r 2
the water is 9 cm deep? (Volume of the cone: V = };m'“h).
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16. By linearization (differentials), the approximate value of V17 is
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20. Find an antiderivative of the function f(z) = -
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9. Suppose that f(z) and g(z) are functions with f(1) =2, f'(1) =9, g(1) = 2 and ¢'(1) = 4.

Let h(z) = 'f(,(,—._). Find A'(0).
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14. The Mean Value Theorem guarantees that the derivative of f(z) = +/1+ 2? at some
point on the interval (0, 2) is
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18. If f"(x) = 2x and f(0) =4, f'(0) = -3, find f(3)
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